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PART A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank.

Then mark the correct choice on your answer sheet.

1-  Fierce winds and deadly waves were only one -——- many explorers like Christopher
Columbus confronted when sailing to unknown lands.
1) suspension 2) obstacle 3) shortage 4) variation

2-  In urban desert areas potable water supplies are stressed by increasing demands that
leave water managers --------------- to find new supplies.
1) discouraging 2) refusing 3) invading 4) struggling

3-  The sense of smell diminishes with advancing age—much more so than the sensitivity to
taste. This —--eeeeeeeeee may result from an accumulated loss of sensory cells in the nose.
1) decrease 2) merit 3) ambiguity 4) defense

4-  True, all economic activities have environmental consequences. Nevertheless, the goal of
shrimp producers should be to reduce the ----------e--- effects on the environment as
much as possible.
1) indigenous 2) competitive 3) deleterious 4) imaginary

5-  Like most successful politicians, she is pertinacious and single-minded in the ---—---- -
of her goals.
1) pursuit 2) discipline 3) permanence 4) involvement

6- Knowing that everyone would ----vnnem- --- after graduation, she was worried that she
would not see her friends anymore,

1) emerge 2) conflict 3) differentiate 4) diverge

7-  Certain mental functions slow down with age, but the brain -------=----—-- in ways that can
keep seniors just as sharp as youngsters.
1) composes 2) conveys 3) compensates 4) corrodes

8-  Itis argued by some that hypnosis is an effective intervention for ----------——--- pain from
cancer and other chronic conditions.
1) displacing 2) alleviating 3) exploring 4) hiding

9-  Children who get -------—=---—— atmosphere at home for studies perform better than
students who are brought up under tense and indifferent family atmosphere.
1) favorable 2) valid 3) obedient 4) traditional

10- The post office has promised to resume first class mail ---—eeeeeeeeee to the area on
Friday.

1) attention 2) progress 3) expression 4) delivery
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| PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Colette began painting while she was still in her youth. (11) ~=—=—=-mee=—- 1970, she
completed her first performance with Hommage a Delacroix. (12) ==—=s—me—mmmm— was
the beginning of an artistic career (13) -----=---—---—- t0 the oneness of art and life.
(14) -=====e==-——-—_actions and performances on streets and public squares, followed by
her "living environments" and the "windows", (15) -——=----————-- in a selected pose
with an elaborate arrangement of fabrics and lace.

11- 1) Since the year 2) During a year of
3) For a year of 4) In the year

12- 1) that it 2) which 3) that 4) it

13- 1) devoted 2) was devoted 3) to devote 4) devoting

14- 1) Street works then came 2) Then came street works
3) There coming then street works with  4) With street works then to come

15- 1) she remained motionless 2) that in there she remained motionless
3) in which she remained motionless 4) that in it motionless she remained

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

It is a great deal easier to motivate employees in a growing organization than a
declining one. When organizations are expanding and adding personnel, promotional
opportunities, pay rises. and the excitement of being associated with a dynamic
organization create feelings of optimism. Management is able to use the growth to
entice and encourage employees. When an organization is shrinking. the best and most
mobile workers are prone to leave voluntarily. Unfortunately, they are the ones the
organization can least afford to lose — those with the highest skills and experience. The
minor employees remain because their job options are limited.

Morale also suffers during decline. People fear they may be the next to be made
redundant. Productivity often suffers, as employees spend their time spreading rumors
and providing one another with moral support rather than focusing on their jobs. For
those whose jobs are secure. pay increases are rarely possible. Pay cuts, unheard of
during times of growth, may even be imposed. The challenge to management is how to
motivate employees under such retrenchment conditions. The ways of meeting this
challenge can be broadly divided into six key points, which are outlined below.

First. there is an abundance of evidence to support the motivational benefits that
result from carefully matching people to jobs. For example, if the job is running a
small business or an autonomous unit within a larger business. high achievers should
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be sought. However, if the job to be filled is a managerial post in a large bureaucratic
organization. a candidate who has a high need for power and a low need for affiliation
should be selected. Accordingly, high achievers should not be put into jobs that are
inconsistent with their needs. High achievers will do best when the job provides
moderately challenging goals and where there is independence and feedback.
However, it should be remembered that not everybody is motivated by jobs that are
high in independence, variety and responsibility.

Based on the information in the passage, all of the following create positive feelings
among the employees of a growing organization EXCEPT ----ereermeev,
1) increases in salary

2) chances of being upgraded

3) equality in terms of promotion and pay

4) being affiliated with a successful company

The passage states that a shrinking organization --——---—=-n-n-,

1) has to offer skilled positions to unskilled workers

2) is more likely to lose its major employees

3) makes minor employees redundant first

4) rewards more skilled workers to prevent them from quitting

Why are employees less productive in a declining organization?

1) They spend plenty of time job hunting.

2) They spread rumors surrounding the closure of their company.

3) They cannot focus on their jobs because of lack of moral support.
4) They keep themselves busy sharing stories that may not be true.
Which of the following can be inferred from the passage about high achievers?
1) They prefer to make their own decisions.

2) They are good at leading a team of selected employees.

3) They must run a large business rather than a small one.

4) People in managerial posts offer valuable feedback to them.

What is the author’s purpose in paragraph 3?

1) To explain one way of encouraging staff in times of cutback

2) To discuss one key point that benefits a specific group of employers
3) To describe a new strategy used for matching people to jobs

4) To list the chief characteristics of high achievers

PASSAGE 2:

Choice, we are given to believe, is a right. In daily life, people have come to expect
endless situations about which they are required to make decisions one way or another.
In the main, these are just irksome moments at work which demand some extra energy
or brainpower. or during lunch breaks like choosing which type of coffee to order or
indeed which coffee shop to go to. But sometimes selecting one option as opposed to
another can have serious or lifelong repercussions. More complex decision-making is
then either shunned. postponed, or put into the hands of the army of professionals,
lifestyle coaches. lawyers. advisors. and the like. waiting to lighten the emotional
burden for a fee. But for a good many people in the world, in rich and poor countries.
choice is a luxury, not a right. And for those who think they are exercising their right
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to make choices, the whole system is merely an illusion, created by companies and
advertisers wanting to sell their wares.

The main impact of endless choice in people's lives is anxiety. Buying something as
basic as a coffee pot is not exactly simple. Easy access to a wide range of consumer
goods induces a sense of powerlessness, even paralysis, in many people. ending in the
shopper giving up and walking away. or just buying an unsuitable item that is not
really wanted in order to solve the problem and reduce the unease. Recent surveys in
the United Kingdom have shown that a sizeable proportion of electrical goods bought
per household are not really needed. The advertisers and the sharcholders of the
manufacturers are. nonetheless. satisfied.

The word “irksome” in paragraph 1 could best be replaced by ---—-meemeemv,

1) perplexing 2) critical 3) terrifying 4) annoying
According to the passage, when people find decision-making hard, they do all of the
following EXCEPT ---eemeemeeees,

1) consult experts 2) avoid making a choice

3) delay it until a later time 4) fear the repercussions of their decisions
What do companies and advertisers do to get their goods sold?

1) They open a wider range of choices to people in rich countries.

2) They make people believe that they have real choices.

3) They create the illusion that customers are imperfect without their wares.
4) They make their wares so widely available.

What do recent surveys in the United Kingdom suggest?

1) More unnecessary goods are bought in the UK than in the rest of Europe.
2) Advertisers try their best to please the sharcholders of the manufacturers.
3) Many customers buy unnecessary goods.

4) Many customers are dissatisfied with the electrical goods that they buy.
What is the relationship between the two paragraphs in the passage?

1) Paragraph 2 describes the effects of something mentioned in paragraph 1.
2) Each paragraph presents an overview of a different concept.

3) Paragraph 2 gives the causes for a phenomenon explained in paragraph 1.
4) Each paragraph classifies situations where people have to make choices.

PASSAGE 3:

During the 1980s UK privatization boom, there was a feeling that directors of newly
privatized utilitics companies were being paid much more than they had been as
managers of the old state-run companies - for doing exactly the same job. As a result,
the Greenbury Report introduced detailed reporting on directors' pay. Today. however.
experts agree that it is still extremely difficult to work out exactly how much any
individual director is really paid.

A big issue in executive pay is the variable element. For every pound of base salary.
a director may get £10-£20 of variable remuneration. This could be in the form of
annual cash bonuses, share options or long-term incentive plans. for example.

Traditionally directors' bonuses are based on two main factors: earnings per share
and/or the company's dividend payout compared to that of similar companies. The
problem is that the first factor can be manipulated by financing strategies. and the
second factor can be positively influenced simply by similar companies doing poorly.
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In other words. what looks like good performance may not necessarily reflect
particularly good management behavior in that company.

The question is, what are the directors' targets? How have they been set? Do they
stretch the executives enough? And exactly how are target performance and above
target performance rewarded?

This desire for information has increasingly pushed remuneration committees to
use valuable annual report space to explain complex executive remuneration details,
with the result that remuneration reports are actually more difficult for the non-
specialist reader to understand.

Why did the Greenbury Report introduce in-depth reporting on executive pay?

1) The public wanted to know about salary distribution at all levels of new and old
organizations.

2) It was assumed that directors in recently-privitized companies were paid considerably
larger salaries than when their companies were run by the state.

3) It was not fair that directors in private-sector companies received much more money
than directors in state-owened companies.

4) Directors in state-owned companies were underpaid in the 1980s.

The word "incentive" in paragraph 2 could best be replaced by --=----meeemev,

1) career 2) business 3) motivation 4) exploitation

According to the passage, all of the following are true about a director's pay EXCEPT

1) it can be up to twenty times bigger than their starting salary

2) the performance of competitor companies changes it

3) understanding the exact amount executives earn is now still very hard

4) the variable part of it is given in different ways

What can be inferred from the passage about factors contributing to directors' bonuses?

1) The first factor can have a greater influence on executive pay.

2) There are several questions as to why managers' good performance is linked to their
financial strategies.

3) The second factor can have a positive impact on the performance of similar companies.

4) They may not serve as reliable indicators of managers' good performance.

The passage states that remuneration committees -----------—-- X

1) produce annual reports comparing and contrasting the pay of senior managers

2) provide information on the pay of senior managers on a yearly basis

3) publish information which is too complex even for experts

4) tend to hide the truth about executive pay from non-specialist readers
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